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1 .:
a..
b.
c..
d..

2 .Linear Programming:
a.
b.
c.
d.

3 ." ":
a.
b.
c.
d.

4 .=<) (:
a.)-1(
b..
c..
d..

5 .Pivot Element:
a..
b..
c..
d.

6 .:
a.
b.
c.
d..

7 .Earliest Start Time:
a.
b.
c.
d.
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8 .constraints:
a..
b..
c..
d..

9 .

10 .:
a.
b.
c.
d.

11 .PERT:
a..
b..
c..
d..

12 .) (:
a.
b.
c.
d.

13 .) ( :
a.
b.=<).(
c.=>).(
d.).(

14 .:
a..
b.
c.
d..

15 .:
a..
b.
c.
d.
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16 .:
a.
b.
c.
d.

17 .:
a.EST
b.EFT
c.LST
d.LFT

18 .:
a.
b.
c.
d.

19 .:
a.X1+x2<=0
b.X1+X2<=10
c.X1+X2<10
d.X1- X2<=0

20 .:
a.Pivot Element
b.Pivot Equation
c.Pivot Column
d.Simplex Method

21 .20)(=
a.19
b.20
c.21
d.10

22 .:
a.
b.
c.
d..

2347:
a.47
b.44
c.77
d.74
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24 .:
a.Business administration
b.Public administration
c.Management science
d.Operations management

25 .:
a.
b.
c.
d.1911

)2630(

3139

31 .X1:
a.(0,30)
b.(30,0)
c.(40,0)
d.(0,40)

32 .X2:
a.(0,30)
b.(0,40)
c.(30,0)
d.(40,0)

33 .X2:
a.(0,20)
b.(0,40)
c.(40,0)
d.(20,0)

34 .:
a.)(
b.)(
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35 .:
c.)(
d.)(

36 .:
a.(8,24)
b.(20,30)
c.(30,20)
d.(24,8)

37 .(24,8):
a.1360
b.1200
c.90
d.1260

38 .(0,20):
a.100
b.1200
c.800
d.1000

39 .Maz z=40x1+30x2:
a.
b.
c.
d.

)(

)4043(

40 .:
a.Max z – 40x1-50x2 = 0
b.Max z + 40x1+50x2 = 0
c.Min z – 40x1-50x2 = 0
d.Max z – 40x1+50x2 = 0
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41 .:
a.X1 + 2x2 – s1 =40
b.X1 + 2x2 + s1 <=40
c.X1 + 2x2 – s1< =40
d.X1 + 2x2 + s1 =40

42 .  :
a.4x1 + 3x2 + s2 <=120
b.4x1 + 3x2 + s2 =120
c.4x1 + 3x2 - s2 <=120
d.4x1 + 3x2 + s2 =120

43 .:
a.X1,x2>=0
b.X1+x2+s1+s2>=0
c.X1,x2,s1,s2>=0
d.Sa,s2>=0

)4953(

S2S1X2X1

8**01

24**10

1360**00

49 .X1:
a.8
b.24
c.32
d.1360

50 .X2:
a.24
b.32
c.1360
d.8

51 .Z:
a.8
b.1360
c.1392
d.24
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52 .:
a.(8,24)
b.(1,0)
c.(0,1)
d.(24,8)

53 .:
a.
b.
c..
d..

)5362(

PERT)6368(

 :

(S)(M)(L)

A258
B11.55

:                                                =      =

63 .A
a.2
b.8
c.4
d.5

64 .A
a.5
b.1
c.0,44
d.3

65 .B
a.1
b.2
c.5
d.1.5

S+4*M +L
6

(L –S)ˆ
6
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66 .B
a.0
b.0.69
c.2.55
d.0.44

67 .:
a.6.5
b.7
c.6
d.12

68 .:
a.1.33
b.0.31
c.2
d.1.5

69 .:
a.
b.
c.
d.

70 .3X2=60  X2
a.20
b.180
c.57
d.60

–
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